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3. The I%9) AABC oA /A o] o] SEMT BC o ZHL D 21 &
ofl, x o] do]=?
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AB:AC=BD:CDO|BE& (14-x):x=3:4,7x =56,
wtebx CD = 8 o|th.
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oh& 2o A AD £ A 9] o] 5240tk AABC 9] §ol7} 40cm?

A wj, AABD 9] Ho|=?

@ 16cm? @ 18cm? ® 27cm?

@ 32cm? ® 32cm?

AD = A 9 o]5BHolB2 AB: AC=BD:DC=2:3
AABD 2} AADC Of|A] fz0]= 731, WHHo] 2: 3 0|22 AABD

AADC = 2: 3 o]t}

- AABD = %AABC = ; x 40 = 16(cm?)




th2 1304 AB,PH,DC & 2% BC
¢} Z=Zo]1, AB = 8cm,DC = 12cm
9 o, PH o] Lol

@ 2.4cm @ 3.2cm

® 3.6cm @ 4cm

AB:DC=AP:CP=2:30]82&2
BC:CH=5:3
BC:CH=AB:PH
5:3=8:PH

- PH = 4.8(cm)




